	Games Walks Singles Doubles Trpls H												Gettir	ng Out	ı				1				Ru	nning Ba	ases			Ge	tting Gone	!				Av	erages						
	Games		٦	les	Doubles	Trpls	Homers		At	t the Plate			On tl	ne Ground		I	n the Air		Oth		On	Ove				Out			Exits		ing Avg.	O	n Base %	•	Slugg	ing %					
Player Name	GB GN	W* AW I	W 1* 1D	B 1CI	2* 2GR	3	HR HY	KB KD KI	E KF K	KL KO I	KP KS K	U IOPOE	GO	FC DP T	P FO	LO A	KO TKO	TK2 TK	3 UO	/ P	PR BB X2	S2 S3	SH	C2 C3	СН ВО	ов О	нв тв	IOB Ej	In Su X	Hits	AB BA	OB	PA (	)BP 7	ГВ	AB Slug	g TOI	в \varTheta то	OB/Θ SB	SA 1	₹BI
1 R.Crider N	<i>A</i> 31 0	2 - (	0 37 0	0	10 0	2	0 0	0 0 0	0 0	0 1	0 0	0 0 0	15	4 0	26	3	0 0	0 0	1	15	0 0 0	0 0	0	0 0	0 4	4	0 0	0 0	0 0 0	49	99 0.49	5 51	101	0.505	63	99 0.63	36 55	4 1	3.75 0	0	12
10 B.Bryant M	<i>I</i> 12 0	0 - (	0 4 0	0	1 0	0	0 0	0 0 0	2 0	0 1	0 0	0 0 0	2	3 1	17	0	0 0	0 0	1	12	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	5	32 0.15	6 5	32	0.156	6	32 0.18	88 8	0	8+ 0	0	2
13 R.McCoy	<b>59</b> 0	15 - (	0 52 0	0	6 0	1	0 0	0 0 0	3 0	1 1	0 2	0 0 0	22	12 2	51	10	0 0	0 0	0	34	0 0 0	0 0	0	0 0	0 6	6	0 0	0 0	0 0 0	59	163 0.36	2 74	178	0.416	67	163 0.4	11 86	6 1	4.33 0	0	27
14 B.Colner M	<i>A</i> 4 0	0 - 0	0 2 0	0	1 0	0	0 0	0 0 0	0 0	0 0	0 0	0 0 0	2	2 0	3	1	0 0	0 0	0	3	0 0 0	0 0	0	0 0	0 1	1	0 0	0 0	0 0 0	3	11 0.27	3 3	11	0.273	4	11 0.36	64 5	1	5 0	0	2
2 B.Blomquist M	A 6 0	0 - (	0 5 0	0	2 0	0	0 0	0 0 0	0 0	0 0	0 0	0 0 0	0	1 0	9	0	0 0	0 0	0	3	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	7	17 0.41	2 7	17	0.412	9	17 0.52	29 8	0	8+ 0	0	3
21 P.Kallio M	<i>I</i> 11 0	0 - 0	0 12 0	0	1 0	0	0 0	0 0 0	0 0	0 1	0 0	0 0 0	7	4 0	5	1	0 0	0 0	0	9	0 0 0	0 0	0	0 0	0 2	2	0 0	0 0	0 0 0	13	31 0.41	9 13	31	0.419	14	31 0.45	52 17	2	3.5 0	0	5
23 Rn.Crider M	<i>I</i> 14 0	0 - 0	0 10 0	0	2 0	0	0 0	1 0 0	0 0	0 0	0 0	0 0 0	2	2 0	17	1	0 0	0 0	0	10	0 0 0	0 0	0	0 0	0 1	1	0 0	0 0	0 0 0	12	35 0.34	3 12	35	0.343	14	35 0.40	00 14	1	14 0	0	4
28 F.Crider M	<i>A</i> 41 0	] 1 - (	0 31 0	0 (	6 0	1	2 0	1 0 0	3 0	0 0	0 0	0 0 0	11	9 2	47	2	0 0	0 0	0	27	0 0 0	0 0	0	0 0	0 5	5	0 0	0 0	0 0 0	40	116 0.34	5 41	117	0.350	54	116 0.46	66 48	5	9.6 0	0	22
29 R.Lamborn M	<i>M</i> 31 0	9 - (	0 34 0	0 (	12 0	5	2 0	0 0 0	4 0	0 0	0 0	0 0 0	12	2 1	16	6	0 0	0 0	0	12	0 0 0	0 0	0	0 0	0 3	3	0 0	0 0	0 0 0	53	94 0.56	4 62	103	0.602	81	94 0.86	62 62	3 2	0.67 0	0	30
33 R.Baker M	<i>I</i> 1 0	0 - (	0 2 0	0	0 0	0	0 0	0 0 0	0 0	0 0	0 0	0 0 0	0	0 0	1	0	0 0	0 0	0	0	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	2	3 0.66	7 2	3	0.667	2	3 0.66	67 2	0	2+ 0	0	1
34 D.Millette M	<i>I</i> 9 0	2 - (	0 10 0	0	4 0	0	1 0	0 0 0	0 0	0 0	0 0	0 0 0	2	0 0	5	1	0 0	0 0	0	3	0 0 0	0 0	0	0 0	0 1	1	0 0	0 0	0 0 0	15	23 0.65	2 17	25	0.680	22	23 0.95	57 16	1	16 0	0	5
4 M.Seal N	A 6 0	1 - (	0 5 0	0	0 0	0	0 1	0 0 0	0 0	0 0	0 0	0 0 0	0	1 2	7	1	0 0	0 0	0	6	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	6	17 0.35	3 7	18	0.389	9	17 0.52	29 7	0	7+ 0	0	6
5 T.McCoy N	<b>59</b> 0	17 -	0 65 0	0	<b>13</b> 0	10	9 0	0 0 0	0 0	0 1	0 1	0 0 0	24	12 2	33	3	0 0	0 0	0	18	0 0 0	0 0	0	0 0	0 6	6	0 0	0 0	0 0 0	97	173 0.56	1 114	190	0.600 1	157	173 0.90	08 117	6	9.5 0	0	54
52 B.Weatherford M	<i>d</i> 6 0	1 - (	0 3 0	0	0 0	0	0 0	0 0 0	1 0	0 0	0 0	0 0 0	2	1 0	11	0	0 0	0 0	0	9	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	3	18 0.16	7 4	19	0.211	3	18 0.16	67 5	0	5+ 0	0	1
62 S.Hughes M	<i>I</i> 15 0	5 - (	0 10 0	0	3 0	0	0 0	0 0 0	0 0	1 1	0 0	0 0 0	5	4 1	15	1	0 0	0 0	0	8	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	13	41 0.31	7 18	46	0.391	16	41 0.39	90 22	0 :	22+ 0	0	4
66 M.Keener M	<i>y</i> 9 0	3 - (	0 7 0	0	4 0	1	0 0	0 0 0	0 0	0 0	0 0	0 0 0	1	1 0	8	3	0 0	0 0	0	2	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	12	25 0.48	0 15	28	0.536	18	25 0.72	20 16	0	6+ 0	0	5
69 J.Tate	<i>1</i> 5 0	0 - 0	0 6 0	0	0 0	0	1 0	0 0 0	0 0	0 0	0 0	0 0 0	2	1 0	4	0	0 0	0 0	0	0	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	7	14 0.50	0 7	14	0.500	10	14 0.7	14 7	0	7+ 0	0	6
7 B.Rogers M	<i>I</i> 10 0	0 - (	0 13 0	0	5 0	1	1 0	0 0 0	1 0	0 0	0 0	0 0 0	3	1 0	8	0	0 0	0 0	0	7	0 0 0	0 0	0	0 0	0 1	1	0 0	0 0	0 0 0	20	33 0.60	6 20	33	0.606	30	33 0.90	09 20	1	20 0	0	16
88 B.Ruff	<i>I</i> 10 0	11 - (	0 9 0	0	3 0	1	0 0	0 0 0	0 0	0 0	0 0	0 0 0	1	6 0	7	0	0 0	0 0	0	8	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	13	27 0.48	1 24	38	0.632	18	27 0.66	67 30	0 ;	80+ 0	0	6
99 G.Brooke	<i>I</i> 13 0	5 - (	0 8 0	0	3 0	0	0 0	0 0 0	0 0	0 0	0 0	0 0 0	3	2 0	12	1	0 0	0 0	0	7	0 0 0	0 0	0	0 0	0 1	1	0 0	0 0	0 0 0	11	29 0.37	9 16	34	0.471	14	29 0.48	83 18	1	18 0	0	7
T.Beason N	<i>I</i> 1 0	0 - (	0 0 0	0	0 0	0	0 0	0 0 0	0 0	0 0	0 0	0 0 0	0	0 0	1	0	0 0	0 0	0	0	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	0	1 0.00	0 0	1	0.000	0	1 0.00	00 0	0	0+ 0	0	0
J.Blalack N	<i>d</i> 3 0	0 - (	0 1 0	0	1 0	0	0 2	0 0 0	0 0	0 0	0 0	0 0 0	1	0 0	3	0	0 0	0 0	0	1	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	4	8 0.50	0 4	8	0.500	11	8 1.37	75 2	0	2+ 0	0	5
J.Branam M	л 14 O	3 - (	0 15 0	0	4 0	0	0 0	0 0 0	0 0	1 0	0 0	0 0 0	1	1 1	19	1	0 0	0 0	0	13	0 0 0	0 0	0	0 0	0 3	3	0 0	0 0	0 0 0	19	43 0.44	2 22	46	0.478	23	43 0.53	35 23	3 7	667 0	0	13
D.Brooke N	<i>A</i> 3 0	0 - (	0 2 0	0	1 0	0	0 0	0 0 0	0 0	1 0	0 0	0 0 0	0	1 0	4	0	0 0	0 0	0	1	0 0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0 0	3	9 0.33	3 3	9	0.333	4	9 0.44	44 4	0	4+ 0	0	0
Player Name	GB GN	W* AW I	W 1* 1D	B 1CI	2* 2GR	3	HR HY	KB KD KI	E KF K	KL KO I	KP KS K	U IOPOE	GO I	FC DP T	FO	LO A	ко тко	TK2 TK	3 UO	/ P	PR BB X2	S2 S3	SH	C2 C3	СН ВО	ов О	нв тв	IOB Ej	In Su X	Hits	AB BA	ОВ	PA (	OBP 7	ГВ	AB Slug	g TOI	в 🛭 то	DB/Θ SB	SA	RBI
	Games	Walks	Sing	gles	Doubles	Trpls	Homers		A	t the Plate			On th	ne Ground		I	n the Air		Oth	er	On	Ove	er			Out			Exits	Batt	ing Avg.	0	n Base %	ó	Slugg	ing %					]
▲ Name of Player	16 :	4.5		Getting	On								Gettir										Ru	nning Ba	ases			Ge	tting Gone						erages						
Players shown in bold, col Players shown in colored t	ont are current  ▲ Games Pla  GB = Game B  BN = Game	ly Subs on one or m yed Batted Not Batted  Malks	ore teams.  ▲ Singles  1* = only stra  1DB = Dead  1CI - Catch	l aight Single d Ball Singl ner Interfere	le ence				Yard) KB K[ Yard) K	Outs at the Pla = Strikeout - ( ) = Strikeout - ( ) = Strikeout - ( E = Strikeout - ( F = Strikeout - ( KL = ( K	Out of Batte Delay of Ga Batter Else Fouls Illegal Bat Looking	r's Box ame ewhere	GO = Gro	der's Choice uble Play	FO = F LO = L AKO: TKO TK2	ly Out ine Out = Automati = Strikeou = Double \$	t - Hit Over Strikeout - I	Fence lit Over Fence t Over Fence	e	nknown C ng Ending • ( PR BE	Out g Out Getting On R = Pinch Ran B = Base Burgle	ed	2B C 3B ( e Home	C2 = Caught C3 = Caugh CH = Caug BOOB = B O = BOOE HB = Hit I	t Stealing S at Stealing tht Stealing aserunner Bs+C2+C3- by batted B	Third Home Out On Ba +CH Ball		Ej = E In = I Su =	ting Gone Ejection njury Substitution Unknown	Hits = 1+ AB = At Hit		OB = Or W PA = Pl	Often You G in Base V+1+2+3+H late Appears Valks+Hits+ On Base %	TB 1- ance AB Outs	= Total B +(2x2)+(3 3 = At BAt Hits+0	lases 3x3)+(Hx4) t Outs	TOB = W+ Θ = B TOB/	Time On B 1+2+3+FC- OOBs+C2+	ase PR+BB+X2 C3+CH ▲ How SB = Sto	l l v Often Sa olen Base S3+SH	
	W* = only straight Walk AW = Assisted Walk (Coed) IW - Intentional Walk  A Doubles 2* = only straight Double 2GR = Ground Rule Do						e ouble			KO = Strikeo KP = Strikeo KS = Strikeo KU = Strike IOP = Inter OE = Office	ut - Unknow ut - Stepped out - Swingin out Umpire' ntional Out a	d on Plate ng 's Discretion at the Plate								X	2 = Extra Innin	g Runner on	1 2B	TB = Tou	uched by B ntentional C	ase coach	n ee												SA = Ste	eal Averaç (SB+C2+ ve In ▲	

	-	Games Walks Singles Doubles Trpls Homers								Getting Out	<b>.</b>						Running Ba	ses		<b>Getting Gone</b>			Ā	verages			,		
	Games	Walks	Singles	Doub	les Trpl	ls Homers		At the Plate		On the Ground		In the Air		Other	On	Over		Out		Exits	Batting Av	; <b>.</b>	On Base %	Slugg	ing %				
Player Name	GB GN	W* AW	IW 1* 1DB	1CI 2* 2	GR 3	HR HY	KB KD KE K	F KI KL KO I	KP KS KU IOPOI	E GO FC DP TP	FO LO	AKO TKO	TK2 TK3	uo /	PR BB X2	S2 S3 S1	H C2 C3	сн воов О	HB TB IOB	Ej In Su X	Hits AB	BA (	OB PA OBP	TB A	AB Slug	тов О	TOB/O	SB SA	RBI
T.Bryan	M 3 0	0 -	0 2 0	0 1	0 1	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	2 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	4 6	0.667	4 6 0.667	7	6 1.167	4 0	4+	0 0	0
J.Bryant	M 2 0	1 -	0 1 0	0 0	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0	0 0 1 0	2 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 4	0.250	2 5 0.400	1	4 0.250	2 0	2+	0 0	1
B.Champion	M 2 0	0 -	0 1 0	0 1	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0	0 0 0 0	1 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 3	0.667	2 3 0.667	3	3 1.000	2 0	2+	0 0	0
S.Clark	M 5 0	2 -	0 5 0	0 0	0 1	0 2	0 0 0 0	0 0 0	0 0 0 0 0	1 0 0 0	9 0	0 0	0 0	0 2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	8 18	0.444 1	10 20 0.500	16	18 0.889	8 0	8+	0 0	6
J.Coleman	M 1 0	0 -	0 0 0	0 0	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	2 1	0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	0 3	0.000	0 3 0.000	0	3 0.000	0 0	0+	0 0	0
B.Cox	M 1 0	0 -	0 1 0	0 0	0 1	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 1 0 0	1 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 4	0.500	2 4 0.500	4	4 1.000	3 0	3+	0 0	4
G.Daley	M 11 0	0 -	0 10 0	0 0	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	1 1 1 0	16 1	0 0	0 0	0 9	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	10 30	0.333 1	10 30 0.333	10	30 0.333	11 0	11+	0 0	6
B.Davidson	M 11 0	0 -	0 20 0	0 1	0 1	0 0	0 0 0	1 0 0 0	0 1 0 0 0	2 0 0 0	9 0	0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 3 3	0 0 0	0 0 0 0	22 35	0.629 2	22 35 0.629	25	35 0.714	22 3	7.333	0 0	10
R.Dearborn	M 5 0	1 -	0 7 0	0 2	0 1	0 1	0 0 0 0	0 0 0	0 0 0 0 0	0 1 0 0	7 1	0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	11 20	0.550 1	12 21 0.571	18	20 0.900	12 0	12+	0 0	13
X.Dillard	M 1 0	0 -	0 0 0	0 0	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	1 0 0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	0 1	0.000	0 1 0.000	0	1 0.000	0 0	0+	0 0	0
T.Dodd	M 5 0	0 -	0 5 0	0 1	0 1	0 0	0 0 0 0	0 0 0	0 0 0 0 0	1 2 0 0	5 0	0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	7 15	0.467	7 15 0.467	10	15 0.667	9 1	9	0 0	3
H.Dunn	M 2 0	1 -	0 1 0	0 0	0 1	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	4 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 6	0.333	3 7 0.429	4	6 0.667	3 0	3+	0 0	2
T.Eskew	M 6 0	0 -	0 5 0	0 1	0 1	0 0	0 0 0 0	0 0 0	0 0 0 0 0	4 0 0 0	8 0	0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	7 19	0.368	7 19 0.368	10	19 0.526	7 0	7+	0 0	5
P.Fowler	M 8 0	2 -	0 2 0	0 5	0 5	0 0	0 0 0 0	0 0 0	0 0 0 0 0	1 0 0 0	6 0	0 1	0 0	0 4	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	12 20	0.600 1	14 22 0.636	27	20 1.350	14 0	14+	0 0	9
J.Gravely	M 2 0	0 -	0 2 0	0 0	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 1 0 0	2 1	0 0	0 0	0 2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 6	0.333	2 6 0.333	2	6 0.333	3 0	3+	0 0	1
D.Green	M 1 0	0 -	0 2 0	0 0	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	1 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 3	0.667	2 3 0.667	2	3 0.667	2 0	2+	0 0	0
S.Grey	M 6 0	0 -	0 8 0	0 1	0 1	0 0	0 0 0 0	0 0 0	0 0 0 0 0	2 0 0 0	5 0	0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	10 17	0.588 1	10 17 0.588	13	17 0.765	10 0	10+	0 0	10
X.Harris	M 11 0	1 -	0 8 0	0 3	0 1	0 1	0 0 0 0	0 0 0	0 0 0 0 0	5 0 0 0	9 1	0 0	0 0	0 5	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	13 28	0.464 1	14 29 0.483	21	28 0.750	13 2	6.5	0 0	7
G.Haynes	M 3 0	0 -	0 1 0	0 0	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	6 0	0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 7	0.143	1 7 0.143	1	7 0.143	1 0	1+	0 0	0
S.Housley	M 2 0	1 -	0 0 0	0 0	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	1 1 0 0	3 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	0 5	0.000	1 6 0.167	0	5 0.000	2 0	2+	0 0	0
W.Hudson	M 2 0	0 -	0 0 0	0 2	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	2 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 4	0.500	2 4 0.500	4	4 1.000	2 0	2+	0 0	0
	M 16 0	•	0 14 0	0 4					0 0 0 0 0			<u> </u>							<u> </u>	0 0 0 0		0.475 2				29 0		0 0	5
J.Kluge	M 4 0	<u> </u>		0 0	-	+		1	0 0 0 0 0		1	:						<del>- !</del>	<u> </u>	0 0 0 0			5 14 0.357		14 0.357			0 0	
C.Knilans	M 2 0	•	0 3 0	0 0	0 0			<u> </u>	0 0 0 0 0		1	•					-	<del>-                                    </del>	<del>!</del>	0 0 0 0			3 4 0.750		4 0.750		1	0 0	
Player Name	GB GN				1 1	<u> </u>		1	1	E GO FC DP TP	+	•							•	Ej In Su X						тов О			
Trayer Ivanic	Games	Walks				ls Homers		At the Plate		On the Ground		In the Air	1112	Other	On	Over		Out	110 10 100	Exits	Batting Av		On Base %		ing %	TOD C	TODIO	SD SA	KDI
▲ Name of Player				tting On	1					<b>Getting Out</b>							Running Ba	ses		<b>Getting Gone</b>				verages					
Players shown in bold, co Players shown in colored	lored font are cu	rrently Regulars of	n one or more teams.					Outs at the Pla KB = Strikeout - 0	e Out of Pottor's Dov		▲ Outs in the A	ir		Other Outs UO = Unknown	Out	▲ Getting Over	▲ Getting Out	Ctagling Casand			▲ How Often You Hits = 1+2+3+H		ow Often You Get On   = On Base			▲ How Often C			
, 5.5 5.10 111 11 5510100	▲ Games Pla	/ed	▲ Singles	! 		▲ Homers HR = Homer Ir		KD = Strikeout -	Delay of Game	FC = Fielder's Choice	LO = Line Out			/ = Inning End		S2 = Stole 2B S3 = Stole 3B	C3 = Caught	Stealing Third		Ej = Ejection In = Injury	AB = At BAt		W+1+2+3+H		3x3)+(Hx4)	W+1+2+3+	FC+PR+BB	+X2	
	GB = Game E BN = Game I		1* = only straigh 1DB = Dead Ba	Il Single	1		over the Fence (Yard	KF = Strikeout		DP = Double Play TP = Triple Play		out - Hit Over F			▲ Getting On			serunner Out On B	Base	Su = Substitution X = Unknown	Hits+Outs BA = Batting Ave	rage	= Plate Appearance Walks+Hits+Outs	Hits+C	Outs	$\Theta = BOOBs+OTOB/\Theta$		How Often :	Safa Stoo
	5510	▲ Walks	1CI - Catcher Ir	nterference	▲ Tripl 3 = Tri			KI = Strikeout - KL = Strikeout	Illegal Bat - Looking			le Strikeout - Hi Strikeout - Hit			PR = Pinch Ran BB = Base Bur	gled	HB = Hit b	s+C2+C3+CH y batted Ball				OB	BP = On Base %age	Slug = Slug	gging %age		SB =	Stolen Bas	
		W* = only straig AW = Assisted		▲ Doubles 2* = only s	: straight Doul	ble		KO = Strikeou	ut - Unknown ut - Stepped on Plate							ng Runner on 2B	TB = Tou	ched by Base coac entional Out on Base	h se								SA:	32+S3+SH = Steal Ave	
		IW - Intentiona		2GR = Gr	ound Rule [	Double		KS = Striked	ut - Swinging out Umpire's Discretion								.02 410											SB / (SB+C	
								IOP = Inter	tional Out at the Plate																			Drive In ▲ ns Batted In	
								UE = Uffic	ial Out Due to Ejection																				

			Gettir	ng On			Getting Out	•			Running Ba	ses	Getting Gon			Averages			
	Games	Walks	Singles		Trpls Homers	At the Plate	On the Ground	In the Air	Other		ver	Out	Exits	Batting Avg.	On Base %	Slugging %			
Player Name	GB GN	W* AW	W 1* 1DB 1C	ZI 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP K	S KU IOPOE GO FC DP TI	P FO LO AKO TKO TK2 TK3	uo /	PR BB X2 S2 S	S3 SH C2 C3	сн воов О нв	B TB IOB Ej In Su	Hits AB BA	OB PA OBP	TB AB Slug	TOB O TOB/	Θ SB SA	RBI
X.Langevin I	M 4 0	0 -	0 3 0 0	3 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 1 0 0	4 0 0 0 0 0	0 3	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	6 12 0.500	6 12 0.500	9 12 0.750	7 0 7+	0 0	3
T.McCurley I	M 1 0	0 -	0 1 0 0	0 0	0 1 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	2 2 1.000	2 2 1.000	5 2 2.500	1 0 1+	0 0	2
L.McLarity I	M 2 0	0 -	0 0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 0 0 0	2 0 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 3 0.000	0 3 0.000	0 3 0.000	0 0 0+	0 0	1
V.McPhearson	M 2 0	1 -	0 0 0 0	1 0	2 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 1 0 0	1 0 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 1 1 0	0 0 0 0 0	3 5 0.600	0 4 6 0.667	8 5 1.600	5 1 5	0 0	3
R.Merritt I	M 11 0	2 -	0 10 0 0	0 0	1 0 0	0 0 0 0 0 0 0 0	0 0 0 0 3 0 0 0	13 2 0 0 0 0	0 6	0 0 0 0	0 0 0 0	0 1 1 0	0 0 0 0 0	11 29 0.379	9 13 31 0.419	13 29 0.448	13 1 13	0 0	4
W.Millwood	M 4 1	0 -	0 2 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 1 0 0	4 1 0 0 0 0	0 4	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	4 11 0.364	4 11 0.364	6 11 0.545	5 0 5+	0 0	2
T.Misencik I	M 2 0	1 -	0 2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 1 0 0	4 0 0 0 0 0	0 4	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	2 8 0.250	3 9 0.333	2 8 0.250	4 0 4+	0 0	1
K.Mooney I	M 1 0	0 -	0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0 1 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	1 2 0.500	1 2 0.500	1 2 0.500	1 0 1+	0 0	0
J.Morrow I	M 2 0	0 -	0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 2 1 0 0	0 0 0 0 0 0	0 2	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	1 4 0.250	1 4 0.250	1 4 0.250	2 0 2+	0 0	1
X.Neilson I	M 2 0	0 -	0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 0 0 0	1 0 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	1 3 0.333	3 1 3 0.333	1 3 0.333	1 0 1+	0 0	0
C.Owens I	M 15 0	2 -	0 16 0 0	4 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 5 3 0 0	14 0 0 0 0 0	0 10	0 0 0 0	0 0 0 0	0 3 3 0	0 0 0 0 0	20 42 0.476	22 44 0.500	24 42 0.571	25 3 8.33	3 0 0	12
M.Parvin I	M 3 0	1 -	0 3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 1 0	1 0 0 0 0 0	0 1	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	3 5 0.600	4 6 0.667	3 5 0.600	4 0 4+	0 0	0
S.Phillips I	M 1 0	0 -	0 0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	2 0 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	0 2 0.000	0 2 0.000	0 2 0.000	0 0 0+	0 0	0
W.Pitts	M 1 0	0 -	0 0 0 0	0 0	0 0 1	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	1 0 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	1 2 0.500	1 2 0.500	4 2 2.000	0 0 0+	0 0	3
S.Primavera	M 2 0	0 -	0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 2 0 0 0	2 0 0 0 0 0	0 1	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	1 5 0.200	1 5 0.200	1 5 0.200	1 0 1+	0 0	0
X.Raines I	M 5 0	0 -	0 6 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 0 0 0	9 0 0 0 0 0	0 2	0 0 0 0	0 0 0 0	0 1 1 0	0 0 0 0 0	6 16 0.375	6 16 0.375	6 16 0.375	6 1 6	0 0	2
T.Ray I	M 1 0	0 -	0 1 0 0	0 0	1 1 0	0 0 0 0 0 0 0 0	0 0 0 0 0 1 0 0	0 0 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	3 4 0.750	3 4 0.750	8 4 2.000	3 0 3+	0 0	3
C.Salomaa I	M 5 0	0 -	0 7 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	1 1 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	8 10 0.800	8 10 0.800	9 10 0.900	8 0 8+	0 0	3
S.Salomaa I	M 1 0	0 -	0 0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0 1 0 0 0 0	0 1	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	0 1 0.000	0 1 0.000	0 1 0.000	0 0 0+	0 0	0
C.Shimel	M 3 0	0 -	0 2 0 0	3 0	0 0 0	0 0 0 0 0 1 0 0	0 0 0 0 1 0 0 0	4 0 0 0 0 0	0 3	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	5 11 0.455	5 5 11 0.455	8 11 0.727	5 0 5+	0 0	4
Br.Smith	M 2 0	0 -	0 2 0 0	0 0	0 1 0	0 0 0 0 0 0 0 0	1 0 0 0 1 0 0 0	1 0 0 0 0 0	0 3	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	3 6 0.500	3 6 0.500	6 6 1.000	2 0 2+	0 0	4
D.Smith	M 2 0	2 -	0 1 0 0	1 0	0 1 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	3 0 0 0 0 0	0 2	0 0 0 0	0 0 0 0	0 2 2 0	0 0 0 0 0	3 6 0.500	5 8 0.625	7 6 1.167	4 2 2	0 0	4
X.Stout I	M 2 0	0 -	0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	4 0 0 0 0 0	0 2	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	1 5 0.200	0 1 5 0.200	1 5 0.200	1 0 1+	0 0	0
M.Tedeschi I	M 2 0	1 -	0 5 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	3 0 0 0 0 0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0 0	6 9 0.667	7 7 10 0.700	7 9 0.778	7 0 7+	0 0	5
Player Name	GB GN	W* AW	IW 1* 1DB 1C	CI 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP K	S KU IOPOE GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2 S2 S	S3 SH C2 C3	сн воов О нв	B TB IOB Ej In Su 2	Hits AB BA	OB PA OBP	TB AB Slug	тов О тов/	Θ SB SA	RBI
	Games	Walks	Singles	Doubles	Trpls Homers	At the Plate	On the Ground	In the Air	Other	On O	ver	Out	Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player Players shown in bold, co	lored font are a	rrently Dogulars at	Gettir	ng On			Getting Out				Running Ba		Getting Gon			Averages			
Players shown in colored		y Subs on one or r red atted	nore teams.  ▲ Singles  1* = only straight Sir  1DB = Dead Ball Sir  1CI - Catcher Inter  it Walk  Valk (Coed)	ingle ference	Triples = Triple Double	Outs at the Plate  KB = Strikeout - Out of I  KD = Strikeout - Delay  KE = Strikeout - Batter  KF = Strikeout - Fouls  KI = Strikeout - Illegal  KL = Strikeout - Look  KO = Strikeout - Unl  KP = Strikeout - Str	Batter's Box of Game FC = Fielder's Choice DP = Double Play TP = Triple Play I Bat king known epped on Plate winging	FO = Fly Out		o Out S2 = Sto ing Out S3 = Sto	ole 3B	Stealing Second t Stealing Third	▲ Getting Gone  Ej = Ejection  In = Injury  Su = Substitutior  X = Unknown	Hits = 1+2+3+H AB = At BAt	W+1+2+3+H PA = Plate Appearance	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PR Θ = BOOBs+C2+C3+ TOB/Θ	+BB+X2 CH ▲ How Ofter SB = Stolen Bi S2+S3+SH SA = Steal Av SB / (SB+	se erage C2+C3+CH
						IOP = Intentional OE = Official Out	Out at the Plate											You Drive In A Runs Batted	

				Getting	On								Getti	ng Out										Running	g Bases				Getting	Gone					Avera	iges				
	Games		Walks	Singles	Double	es Trpls	Homers			At the P	late		On t	he Grou	nd		In the	Air		Other	On		Over			Out			Exit	s	Batti	ng Avg.	Or	n Base %	SI	ugging %				
Player Name	GB G	N W	* AW IW	1* 1DB 1CI	2* 20	GR 3	HR HY	KB KD	KE KF	KI KL	KO KP	KS KU IOP	DE GO	FC DI	P TP	FO LO	AKO T	CKO TK2	2 TK3	UO /	PR BE	3 X2	S2 S3 S	Н С2	C3 CH	BOOB	<b>О</b> нв	TB IOI	B Ej In S	Su X	Hits	AB BA	OB	PA OB	P TB	AB Slu	g TOI	, О тов	/O SB	SA RJ
T.Tessereau M	2 0	0	- 0	3 0 0	1	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 2	0 0	0	1 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	4	7 0.57	1 4	7 0.	571 5	7 0.7	14 4	0 4+	. 0	0 2
S.Turner M	1 2 0	0	- 0	1 0 0	0	0 1	0 0	0 0	0 0	0 0	0 0	0 0 0	0 3	0 0	0	1 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	2	6 0.33	3 2	6 0.	333 4	6 0.6	67 2	0 2+	. 0	0 1
M.Tweet N	23 0	3	- 0	29 0 0	7	0 2	2 0	0 0	0 0	0 0	0 0	0 0 0	0 8	2 1	0	21 3	0	0 0	0	0 11	0 0	0	0 0	0 0	0 0	4	4 0	0 0	0 0	0 0	40	75 0.53	3 43	78 0.	551 57	75 0.7	60 43	4 10.7	75 0	0 19
D.Westover M	1 8 0	0	- 0	11 0 0	0	0 1	0 0	0 0	0 0	0 0	0 0	0 0 0	0 6	1 0	0	4 0	0	0 0	0	0 4	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	12	23 0.52	2 12	23 0.	522 14	23 0.6	09 13	0 13	+ 0	0 5
G.Whitworth M	1 1 0	0	- 0	0 0 0	0	0 2	1 0	0 0	0 0	0 0	0 0	0 0 0	0 0	0 0	0	0 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	3	3 1.00	0 3	3 1.	000 10	3 3.3	33 2	0 2+	- 0	0 2
B.Williams F	1 0	3	0 0	0 0 0	0	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0	0 0	0	0 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0.00	0 3	3 0.	000 0	0 0.0	00 3	0 3+	- 0	0 (
Ma.Williams M	1 1 0	0	- 0	2 0 0	0	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0	0 0	0	0 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	2	2 1.00	0 2	2 1.	000 2	2 1.0	00 2	0 2+	- 0	0 1
M.Williams M	1 14 0	2	- 0	8 0 0	0	0 0	0 0	0 0	0 1	0 0	0 0	0 0 0	0 3	0 0	0	21 3	0	0 0	0	0 7	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	8	36 0.22	2 10	38 0.5	263 8	36 0.2	22 10	0 10	+ 0	0 2
X.Wilson M	1 2 0	0	- 0	4 0 0	0	0 0	0 0	0 0	0 0	0 0	1 0	0 0 0	0 2	0 0	0	1 0	0	0 0	0	0 1	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	4	8 0.50	0 4	8 0.	500 4	8 0.5	00 4	0 4+	- 0	0 1
J.Woliver M	1 2 0	0	- 0	0 0 0	2	0 3	0 0	0 0	0 0	0 0	0 0	0 0 0	0 1	0 0	0	0 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	5	6 0.83	3 5	6 0.	833 13	6 2.1	67 5	0 5+	- 0	0 3
Bi.Xxx M	1 1 0	1	- 0	2 0 0	0	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0	0 0	0	1 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	2	3 0.66	7 3	4 0.	750 2	3 0.6	67 3	0 34	- 0	0 0
Bu.Xxx M	1 1 0	0	- 0	0 0 0	0	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 1	0 0	0	2 0	0	0 0	0	0 2	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	3 0.00	0	3 0.	000 0	3 0.0	00 0	0 0+	- 0	0 0
Je.Xxx M	0 1	0	- 0	0 0 0	0	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0	0 0	0	0 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0.00	0 0	0 0.	000 0	0 0.0	00 0	0 0+	- 0	0 0
J.Xxx M	0 1	0	- 0	0 0 0	0	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0	0 0	0	0 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0.00	0 0	0 0.	000 0	0 0.0	00 0	0 0+	- 0	0 0
P.Xxx M	1 1 0	0	- 0	0 0 0	0	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0	0 0	0	3 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	3 0.00	0 0	3 0.	000 0	3 0.0	00 0	0 0+	- 0	0 (
R.Xxx M	0 1	0	- 0	0 0 0	0	0 0	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0	0 0	0	0 0	0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0.00	0 0	0 0.	000 0	0 0.0	00 0	0 0+	- 0	0 0
S.Yi M	1 5 0	0	- 0	7 0 0	0	0 3	0 0	0 0	0 0	0 0	0 0	0 0 0	0 1	1 0	0	5 0	0	0 0	0	0 2	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	10	17 0.58	8 10	17 0.	588 16	17 0.9	41 11	0 11-	+ 0	0 9
J.Mendoza	7 0	1	0 0	7 0 0	1	0 1	0 0	0 0	0 0	0 0	0 0	0 0 0	0 2	1 0	0	7 1	0	0 0	0	0 4	0 0	0	0 0	0 0	0 0	1	1 0	0 0	0 0	0 0	9	20 0.44	9 10	21 0.4	481 13	20 0.6	36 11	1 13.7	75 n/a	n/a 7
Team Totals	59	109	9 0 0	579 0 0	130	0 54	23 8	2 0	0 16	0 5	7 0	5 0 0	0 192	95 16	6 1	581 52	0	1 0	0	2 332	0 0	0	0 0	0 0	0 0	52 5	52 0	0 0	0 0	0 0	794	1769 0.44	9 903	1878 0.4	481 1125	1769 0.6	36 967	52 13.7	/5 n/a	n/a 42

(89=88m+1f) Team by Year - League - DZ - Extended

Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2GR	3	HR HY	KB KD KE KF	KI KL KO KP KS KU IOPO	DE GO FC DP TI	P FO	LO AKO TKO TK2 T	K3 UO /	PR BB X	12 S2 S3 SI	Н С2 С3 СН ВООВ О НВ	тв юов Еј	In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов О тов	Θ SB SA	RBI
	Games	Walks	Singles	Doubles	Trpls	Homers		At the Plate	On the Ground		In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player			Getting	On					Getting Out						Running Bases	Get	tting Gone			Averages			
	font are currently  ▲ Games Playe GB = Game Ba BN = Game N	Subs on one or more ed atted	e teams.  A Singles  1* = only straight Sing  1DB = Dead Ball Sing  1CI - Catcher Interference  alk  ( (Coed)	gle rence	Triples 3 = Triple	HY = Homer ( s e	side the Park Over the Fence (Yard)	Outs at the Plate  KB = Strikeout - Out of Batter's Box  KD = Strikeout - Delay of Game  KE = Strikeout - Batter Elsewhere  KF = Strikeout - Fouls  KI = Strikeout - Illegal Bat  KL = Strikeout - Looking  KO = Strikeout - Unknown  KP = Strikeout - Stepped on Plate  KS = Strikeout - Swinging  KU = Strikeout Umpire's Discretic  IOP = Intentional Out at the Plate  OE = Official Out Due to Ejectio	n e	FO = Fly ( LO = Line AKO = A TKO = S TK2 = I	Out		own Out Ending Out  A Getting On PR = Pinch Ra BB = Base Bu	S3 = Stole 3B SH = Stole Hor	C2 = Caught Stealing Second	Ej = E In = li Su =	Ejection	▲ How Often You Hit Hits = 1+2+3+H AB = At BAt Hits+Outs BA = Batting Average	▲ How Often You Get On OB = On Base W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs OBP = On Base %age	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PF 0 = BOOBs+C2+C3 TOB/0  Runs	A+BB+X2 +CH ▲ How Often SB = Stolen Ba S2+S3+SH SA = Steal Ave	ase I erage C2+C3+CH)